
A car travelling at 60 km/h overtakes another car travelling at 42 km/h . Assuming each car to be 5 .0 m 

long. Find the time taken during the overtake. 

Relative velocity of cars equals: 

𝑣12 = 𝑣1 − 𝑣2 – because one overtakes another 

where 𝑣1, 𝑣2  - velocities of first and second cars. 

Their total length equals: 

𝐿 = 2𝑙 ,  

where 𝑙 – length of one car ( their lengths equal ) 

Therefore, time taken during the overtake equals: 

𝑡 =
𝐿

𝑣12
=

2𝑙

𝑣1−𝑣2
=

10𝑚

(60−42)
𝑘𝑚

ℎ
 
=

10𝑚

5
𝑚

𝑠

= 2 𝑠  

Answer: 𝑡 = 2 𝑠𝑒𝑐𝑜𝑛𝑑𝑠 
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